22 TO DO

This puzzle contains only 22 letters of the alphabet to decode.The missing four letters can
be used to make a word.Which word? You have just two starters to help you on its trail.
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Missing Word:
issing Word:
This puzzle may be printed or copied solely for personal use. © Puzzler Media 2008. THOM :piom Buissin
This puzzle may not be reproduced in any other form without the written consent of the [ZIX[A[OIN[AlS]dIW[D]4]
publishers. The puzzle appeared originally in Code Words. [A[3m[rlal1[o]LIN|v][g]
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